cosS sin tan sec csc cot
0 1 0 0 1 undefined | undefined
z | B 1 B3 23 ) 5
6 2 2 3 3
z ﬁ Q 1 V2 V2 1
4 2 2
z | 1L B3 A ) 23 B3
3 2 2 3 3
% 0 1 undefined undefined 1 0
2z | 1 V3 i 5 23 3
3 2 2 3 3
w2 e s s |
4 2 2
se| | || s |, | s
6 2 2 3 3
T -1 0 0 -1 undefined | undefined
7| A3 1 REl 2 5 5
6 2 2 3 3
ST V2| A2 I -z | -2 I
4 2 2
4z | 1 3 A L | B B
3 2 2 3 3
37 0 -1 undefined undefined -1 0
st 1 V3 G ) 23| B
2 3 3
Iz V2 _N2 -1 V2 -2 -1
4 2 2
Uz | 43 1 A3 23 D G
6 2 2 3 3
27 1 0 0 1 undefined undefined




